

MOTORCYCLE ACCESSORY SPECIALISTS

Honda GL1000/1100 Gold Wing Mounting Instructions

(1)   ½ - 20 x 2 ½ bolt





(1)   7/16 - 20 x 1 ½ bolt


(1)   ½ lock washer





(1)   7/16 flat washer


(2)   ½ flat washer 





(1)   7/16 nyloc nut


(1)   1 ¼ clamp with eye bolt




(1)    1 ¼ U-bolt
            (1)   1 ¼ clamp with modified 45 º cut strap

(2)    5/16 nyloc nut
       
        & eye bolt
[image: image1.jpg]7/16-20x1 112 bolt} | 12-20x2 112 bole
FW & NY ~ (@) FW&LW

o
Modified 45° cut strap|
with 1 1/4 eye bolt 2

5/8-18x2 112 bolt
2)S/S FW & NY

\ ‘
114 U-bolt

() 516 NY

HONDA GL 1000 & GL 1100
GOLDWING




[image: image2.jpg]



LOWER FRONT MOUNT

1.) Remove the nut from the lower front engine mount bolt.

2.) Install the mount onto the engine mount bolt and start the nut enough to keep the mount from falling off.

3.) Slip the U bolt over the frame and through the mount as shown above and install the nyloc nuts.

4.) Tighten the engine mount bolt and then the two nyloc nuts.
[image: image3.jpg]



LOWER REAR MOUNT

1.) Lower the right muffler to allow the center stand through mount tube to be removed.

2.) Remove the center stand.

3.) Remove the chrome cap covering the right side of the swing arm pivot bolt.  The end of the bolt is hollow and needs to be tapped to accept a ½-20 threaded bolt.

4.) Remove the right driver’s foot peg bolt.

5.) Install the rear mount support tube under the bike using the center stand mount tube.  The tab on the mount support should be toward the left side of the bike.  Install the muffler back into position.

6.) Install the mount to the bike and support tube as shown on next page.
1.)   There is a sequence that needs to be followed when installing the bolts.  

2.)   The first one to install is the bolt into the end of the swing arm (refer to picture item A).
3.)   Do not tighten until all bolts are in place.
4.)   Second install the bolt (refer to picture B) into the stand bracket from the front as shown. Start the nut, but again do not tighten.

5.)   The picture shows the foot peg bolt hole is off about an eighth of an inch or so at this point. Put a pry bar or large screw driver through the clevis as shown (refer to Pry bar picture) and push down slightly to align the hole and install the bolt through the foot peg and tighten.
6.)   Now the bolt through the stand bracket can be tightened and then the swing arm pivot bolt.
There can be some variation in the center stand brackets on the motorcycles.  Also be sure the motorcycle frame cross tube, that stand brackets are welded to is solid and not rusty.

[image: image4.jpg]



[image: image5.jpg]



[image: image6.jpg]



[image: image7.jpg]



UPPER REAR CLAMP
1) Install the clamp on the frame just behind the fuel tank.  Install the strap with the angle cut                      out at the top.  Place it over the frame just behind the rear foot peg and work it up the frame to    

it’s final location as close to the top as possible.  It will be tight between the fuel tank and frame
         moving the strap around and may involve denting the tank slightly for clearance.  

2) Install the clamp block using the two ¼ x 2 bolts and nylocs.  Do not tighten yet.
3) Slide the slipper behind the block and hold in place while screwing in the eye bolt until it engages the slipper enough to keep it from falling out.
4) Tighten the two ¼ inch bolts.  Position the clamp where you want it and tighten the eye bolt.

[image: image8.jpg]



UPPER FRONT MOUNT

1.) Install the upper front clamp on the frame as shown as high as possible.  Try to keep the clamp in line with the strut direction as much as possible to prevent the clamp from rotating around the frame tube.

2.) If your bike has a fairing lower you may have to cut a hole in the plastic for clearance.
Website: www.dmcsidecars.com          Sales: (866) 638-1793                   Phone: (360) 825-4610                    Fax: (360) 825-5446
Pg. 5

